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CLOSED BOOK. My and/or your adjusted Study Notes (Cheat Sheet) are
permitted. Use the FnCalculator TVM App for finance calculations.

Show hand-drawn screen shots of all App entries.
Time Limit! 45 minutes Max.
Each individual question is worth two marks unless otherwise indicated.

Round all decimal and % answers to the nearest 0.01. Simplify all
fractions.

SHOW WORK for best mark. Use separate paper If necessary and attach.



1. Kevin takes a loan for $12,500 to renovate his kitchen. The loan is for a
term of 4 years with an APR of 14 5% compounded monthly.

a. Determine Kevin's monthly payment. [show screen shot] fb"B ’-f'-,‘.:],j A Bﬁﬂr\
b. Determine how much Kevin paid for interest by the end of the loan.

c. If Kevin had instead decided to pay off the same loan quicker with
payments of $400 per month instead, determine how long it would take

to "amortize’ (kill off) the loan. [show screenshot]
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term of 4 years with an APR of 14 5% compounded monthly.
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1. Kevin takes a loan for $12,500 to renovate his kitchen. The loan is for a
term of 4 years with an APR of 14 5% compounded monthly.

a. Determine Kevin's monthly payment. [show screen shot]
b. Determine how much Kevin paid for interest by the end of the loan.

c. If Kevin had instead decided to pay off the same loan quicker with <— 34.48 W"ﬂ"s
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2. Debbie inhents $8,300 from an uncle. Debbie invests the $8,300in a
financial product that guarantees a growth of 7.25% interest compounded
monthly.

a. Determine the value of her investment at the end of 8 years. (Show
screen shot if using TVM App)

b. Using Rule of 72, approximately how long would the investment
take to double?

C.
- Debbie is thinking of taking a $12,000 course at college in 5 years
once her kids are in school. Determine the interest rate (APR) she

would need if she were to instead invest the $8,300 in an investment
product that compounded quarterly. (Show screen shot if using TVM.
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3. Olivia goes to a pow wow. She buys three bison burgers and a $2.50

coke. The total cost is $12.70. Determine the price of one burger.

We used to do guess and check! It works O\0
(if there is only one answer)

x = 8.5
3-(3.00)+2.50
= 115
3 (4.%0)+2.50
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3-(3.50)+2.50
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(3.40)+2.50
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4 Braden has a bag of marbles. Two GREEN,

three BLUE, and a YELLOW. Consider the

following separate situations below: [express

answers as both % and as reduced fraction] e B

a. Determine the probability that in one 28
random draw that Braden draws out a B
GREEN Marble ) 4

b. Determine the probability that Braden -ﬂ GV
draws out a BLUE OR a YELLOW Marble. -)( _ o eth _ l

c. Determine the probability that Braden ¢ -
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5. Mr F has nine students. He has room in his vehicle to take a group of
four students to a tour of Red River College.

a. determine how many different groups Mr. F could randomly form.

b. Shyla and Willam want to be together! If MrF randomly selects a Not mrded
group of four, determine how many of the randomly selected groups —7 e / /
have Shyla and William selected together.
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c. Bonus (1 mark). Determine the probability Alexie is not selected in Ahin h‘:"ﬁ' '
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BONUSES. (1 extra marks each if needed)

BONUS 1. Carol has two quarters, two dimes, and a nickel in her wallet.
She randomly selects just two coins. Determine how many different sums
of money she can make with just two coins.
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BONUS 2. Dave decides to quit smoking. He puts away $60 every week
for 30 years into an account that pays 5.75% interest compounded
monthly. Determine how much the account is worth after the 30 years.

(Use the Advanced TVM, although the compounding frequency is not really

an overly significant factor in the calculation)
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